STUDY UNIT 11
IMPAIRMENT OF ASSETS

EVALUATION CRITERIA

Read pg 1 of ch 5

SCHEMATIC REPRESENTATION OF IAS 36

Study par 2 – NB

BACKGROUND OF IAS 36

· Main objective is to provide procedures that comp must follow to ensure that it’s a aren’t carried in SOFP at values greater than their recoverable amounts
· Application of prudence concept forms basis of impairment

· If a is carried at amount greater than its recoverable amount, the full carrying amount of A will probably not b recovered in future, either through sale or through use, therefore the A must b recognised as being impaired

· Address when impairment losses must b recog or reversed for individual A and the disclosure req for impairm losses and impaired A

· Applies to both A carried at cost and at revalued amount

· Applies mainly to:
- tangible and intangible A
- investments in subs
- joint ventures
- associates
although last 3 items are financial assets

· Not applicable to A such as:
- inventories
- deferred tax assets
- employee benefits
- investment prop measured at fair value
- biological assets
- deferred acquisition costs
- intangible a arising from ifrs 4, non-current a classified as held for sale
- finan A within scope of IAS 39

NATURE OF IMPAIRMENT
· Impairment loss – amount by which carrying amount of A exceeds its recoverable amount

· Recoverable amount – is the higher of an A’s fair value less costs to sell and its value in use

· Fair value less costs to sell – amount obtainable from sale of A in an arms length transaction between knowledgeable, willing parties, less the cost of disposal

· Value in use – PV of future cash flows expected to b derived form an A.  these cash flows will include those form the continuing use of the A and from its disposal at end of its useful life

· Carrying amount – amount at which an A is recognised after deducting acc depr or amortisation and acc impairment losses theron
· If fair value higher than carrying amount, then IAS 36 don’t apply
· If A is impaired, carrying amount of A is written down to the recoverable amount

· Problem with IAS 36 is its not always easy to see which A are impaired and not cost effective to assess all A for impairment on annual basis.

· Comp shall at eac reporting date assess if there are indications that A may b impaired.  If such indications exist, the comp must calculate the recoverable amounts of particular A, provided the impact thereof is material

· Irrespective if indication of impairment and if material, a comp must also:
Test an intangible A with an indefinite useful life or intangible a not yet available for use annually for impairment by comparing its carrying amount with its recoverable amount. Impairment test can b done at any time of the year as long as done at same time every year.
Comp must, as a minimum, consider foll 2 sources in assessing if a are likely to b impaired:

External Sources of Information

· During period, market value declined significantly, more than expected from passage of time or normal use
· Significant changes with adverse effect on comp have taken place during period, like technological, marker, economic, legal environment in which comp operates or in market to which products of A are dedicated

· Market interest rates or other market rates of return on investments have increased during period, and those increases are likely to affect the discount rate used in calculating A’s value in use, and decrease the A’s recoverable amount materially
· Carrying amount of net assets of reporting entity is more than its market capitalisation

Internal Sources of Information

· Evidence is available of obsolescence of, or physical damage to, an asset 
· Significant changes with adverse effect on comp have taken place during period, or expected to take place in near future, to extent or manner in which, A is used or is expected to b used.  Changes include asset becoming idle, plans to discontinue or restructure ops to which A belongs, plans to dispose of A before previously expected date and reassessing useful life of a as finite rather than indefinite

· Evidence is available form internal reporting that indicates that econ performance of A is, or will be, worse than expected

MEASUREMENT OF RECOVERABLE AMOUNT AND RECOG OF IMPAIRMENT LOSS

Fair value less costs to sell

· This is amount obtained form sale of A in an arm’s length transaction between a willing and knowledgeable buyer and seller, less costs of disposal

· Cost so disposal are incremental costs that are directly attributable to disposal of A, but finance costs and income tax expenses are excluded

· Active market is market where all of following conditions exist:
- items traded in market are homogeneous
- willing buyers and sellers can normally b found at any time
- prices are available to the public

· If A isn’t being sold and there is no binding sales agreem, but theres an active market for A, the bid price in market less costs of disposal of A is deemed to b fair value less costs to sell

· Alternatively regards price of most recent sell as market price, provided no signif change in econ conditions

· Costs of disposal include:
legal costs, stamp duty, transaction taxes, cost of removing the assets, any direct incremental costs incurred to bring asset inot condition for sale
· Cost of disposal exclude:
termination benefits, costs associated with reducing or reorganising comp as result of sale of asset, costs for which a provision has already been made

· Where A is held for disposal, the value in use will probably b less than the fair value les costs to sell, as future cash flows from continuing use of A will b negligible. In these cases, its not necessary to calculate the value in use, and the recoverable amount is deemed to b fair vale less costs to sell.

· Study example 5.1 on page 110

Measuring recoverable amount for an intangible asset with an indefinite useful life

· Some assets must b tested for impairment annually, irrespective of if there are indications of impairment.

· Intangible asset with indefinite usefull life is example of such an asset

· Allows comp to use most recent detailed calculation of such an A’s recoverable amount made in a preceding period to test for impairment in the current period, provided all the following criteria are met:
 - most recent recoverable amount calculation shud have resulted in a recoverable amount that exceeded the carrying amount of the A now tested for impairment, by a wide margin; and
- based on an analysis of circumstances surrounding the most recent recoverable amount calculation, the likelihood that current recoverable amount determination would b les than A’s carrying amount, must b remote

DISCLOSURE
SOCI: profit or loss section

· Amount of impairment losses recog during period and line items of SOCI in which those impairment losses are incl

· Amount of reversals of impairment losses recog and line item of SOCI in which those impairment losses are incl

SOCI: other comprehensive income section

· Amount of impairment losses, on revalued assets, recognised during period

· Amount of reversals of impairment losses, on revalued A, recog during period

Notes to financial statements

If impairment loss recog/reversed on individual asset, incl goodwill, is material, foll info must give:

· Description of events and circumstance that led to recognition/reversal of impairment loss

· Amount of impairment loss

· Nature of asset

· If recoverable amount is fair value less costs to sell or its value in use

· Basis used to determine fair value less costs to sell, if recoverable amount is faire value less costs to sell

· Discount rates used in current estimate and previous estimate of value in use, if recoverable amount is value in use

If impairment losses recog during period are not individually material to afs as a whole, a comp must disclose a brief description of the following:

· Main classes of A affected by impairment losses for which no info is disclosed
· Main events and circumstances that led to recog of these impairment losses for which no info is disclosed

· Comp is encouraged to disclose the assumptions used to determine the recoverable amount of a in the period

· Nb – study examples 5.6 and 5.7 on page 120

